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Time : 3 hours Maximum Marks : 100

Note :

(i) The question paper consists of two sections. Section A covers questions related to
research methods whereas Section B covers questions related to the subject of
Geography.

(ii) Each section has two parts. Part A consists of questions which are compulsory and
‘ Part B consists of ten short answer questions. Answer any five questions out of
the ten.

(If there is any discrepancy in Hindi version, English version shall be considered authentic)
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SECTION A
PART A

Answer all questions. Questions no. 1 to 25 carry one mark each.

1.

“Is the respondent male or female ?” This question is related to which one of the
following types of data measurement scales ?

(1) Nominal
(2) Ordinal
(3) Interval
(4) Ratio

The proposed generalizations about the relationships that are thought to exist
between the research theme and the other pertinent theme is supposed to be a

(1) Research objective
(2) Conclusion
(3) Hypothesis

(4) Statement of a research problem

The scientific method is based on the basic postulation that
(1) Relies on empirical evidences

(2) Utilizes relevant concepts and methods

(3) Committed to consideration of objectives

(4) All of the above

A research paper is generally aligned in the following order of sequence :
I.  Introduction and Study area

II. Materials and Methods

ITII. Future scope of the research

IV. References

V. Results and Conclusions

1) LILIILIV,V
(2) LILV,IILIV
3) LILV,IV,III
4 LILILV,IV
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5. Match List I with List II and select the correct answer from the options given

below :
ListI List IT
A. Bibliography I.  Preliminary Examination
B. Reconnaissance Survey II. Project Location
C. Study Area ITI. Previous Publications
D. Pilot Project IV. Trial run of the designed project
A B C D
W1 n m v
(2) III II I v
3) III I II v
4 III v I II

6. The water has no taste. In this sentence, ‘taste’ can be treated as
(1) Quantitative Variable (2) Qualitative Variable
(3) Height Variable (4) None of the above

7.  Which one of the following comes under probability sampling ?
(1) Snowball Sampling (2) Purposive Sampling
(3) Quota Sampling _ (4) Cluster Sampling

8. A researcher obtained the result from a laboratory test as 86-86921 and the
value is adjusted to 86-87. This type of adjustment is generally called

(1) Degree of Precision (2) Degree of Validity
(3) Degree of Reliability (4) Degree of Accuracy
9. Which one of the following is not a quality of a sample survey ?
(1) Less accurate (2) Labour consuming
(3) Economical (4) Cover large population

10. Primary data means
(1) Data collected from reports
(2) Data collected from field survey
(3) Both (1) and (2)
(4) None of the above

" 11. Which one of the following represents highly negative correlation ?
1) -09 v (2 -01
(3) Zero 4 -05
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12. Select the wrong statement from the following : 1
(1) Systematic sampling selects the population at regular intervals.
(2) The population divided into various subgroups and each subgroup having a

representation in a sample design is called stratified sampling.
(3) The members of population are fairly homogeneous where simple random
sampling is used.

(4) Simple random sampling is not just like drawing a number in a lottery.

13. Consider the following statements about the characteristics of a good sample design :
I. It must result in a truly representative sample.
II. It must result in a small sampling error.
ITII. It must be viable in the context of the availability of funds for research study.
Which of the statements given above is/are correct ? 1
(1) Iand II only (2) III only
(3) Ionly (4) I, IIandIII

14. SPSSis 1
(1) Statistical Package for the Social Sciences Studies
(2) Statistical Programme for the Social Sciences
(3) Statistical Package for the Social Sciences
(4) Statistical Software Programme for the Sciences

15. The value assigned to a response at the time of data analysis is called 1
(1) Analysing (2) Coding
(3) Sampling (4) Numbering

16. Match the following : 1

A.

B.
C.

D.

(1)
(2)
3)
(4)

Bar diagram

Wheel diagram
Circle diagram

Line diagram

A B C
II I v
II v I
II III IV
III I IV

Ph.D./M.Phil GEOG

II.

IIL

III
III

I

The circle divided into sectors by calculating each
share in pércentage '
Quite suitable for comparison purposes
Representing a sequence of values corresponding to
periods of time

Propertionate circles drawn by calculating the
radius of each circle
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17.

18.

19.

20.

21.

22.

Spatial resolution of the Cartosat-2 satellite sensor is
(1) 2 metres

(2) 2 to5 metres

(3) Less than 1 metre

(4) More than 5 metres

India’s navigation system is named as
(1) GPS (2) GALILEO
(3) NAVIC (4) GLONASS

Choose the correct statement from the following : ‘
(1) Horizontal property of the frequency distribution is called kurtosis.
(2) Vertical nature of the frequency distribution is called skewness.

(3) Vertical nature of the frequency distribution is called kurtosis.

(4) None of the above

Georeferencing is a process of

(1) Assigning real world coordinates to each pixel of a raster

(2) Conversion of raster pixels into vector

(3) Locating raster pixels in a systematic way

(4) Locating coordinates by GPS instrument

Small lines drawn down the slope in the direction of the steepest slope are
known as

(1) Contours (2) Hachures

(3) Hypsometric lines (4) Form lines

Points X and Y are located on the contours of 60 metres and 100 metres,

respectively. Vertical interval is 20 metres. The degree of slope between the
points will be

1) 3° } (2) 120°
(3) 20° (4) 12
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23.

24.

25.

NDVI stands for

(1) Normalized Daily Vegetative Information

(2) Normalized Difference Vegetative Index

(3) Normalized Difference Vegetative Information

(4) Normal Daily Vegetative Index

Slope categorization was proposed by
(1) Gruquins (2) Davis
(3) Smith (4) Lehman

Spearman’s coefficient of correlation can be calculated by using the formula
6% d?

1€y 1+ ——
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PART B

Answer any five out of ten questions. Each question carries 5§ marks. Write your answers
within 100 words each.

26. Discuss the major stages in the cycle of a standard research plan. 5
27. Explain in brief, the role of review of literature in research work. 5
28. Describe the difference between quantitative and qualitative data. ' 5

29. Explain the various types of levels of measurement in determining data.
30. What is base map ? Explain its importance in research work.

31. Discuss about the types of mean, a measure of central tendency.

32. Distinguish between research methods and research methodology.

33. Briefly explain about field research.

34. Explain the role of software packages in data analysis.

G Gt ;v g G v Oy

35. Explain about copyright and plagiarism issues in research work.
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SECTION B
PART A

Answer all questions. Questions no. 36 to 60 carry one mark each.

36. Hecataeous of Miletus who is often called the Father of Geography wrote a book,

namely,
(1) Geographia Generalis (2) Ges Periodos
(3) Meteorologica (4) Geographica

37. Which one of the following statements is not correct ?

(1) Gnomon is an instrument used by Greeks for measuring the varying
position of the Sun.

(2) The words Bhugol and Khagol can be observed in the Indian literature of
Puranas.

(3) The book titled “Outline of Geography” written by Strabo describes the
determination of position of places.

(4) Astrolabe is an instrument used by Hipparchus in determining latitudes
and longitudes.

38. The concept of isotherms for studying climate was first introduced by
(1) Ritter (2) Humboldt
(3) Davis (4) Oscar Pescher

39. The major contribution to geography by the French School was
(1) Colonial , (2) Physical

(3) Economic (4) Systematic

40. The statement “Physical setting as a determinant of human ways of life” is
related to

(1) Possibilism
(2) Probabilism
(3) Stop and Go determinism

(4) Determinism

41. Which one of the following is a major tributary of the river Godavari ?
(1) Penganga (2) Panchganga
(3) Dudhganga (4) Ramganga
Ph.D./M.Phil GEOG 14
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42. Evergreen forests are most commonly found in
(1) Mountainous regions with moderate temperature
(2) Regions with cool and moderate rainfall
(3) Regioﬂs with scanty rainfall and low temperature

(4) Regions with adequate rainfall in the entire year

43. What is the contour interval of 1 : 25,000 scale toposheet ?
(1) 50 metres (2) 100 metres
(8) 10 metres ‘ (4) 20 metres

44. What is the visible range of electromagnetic spectrum ?
(1) 0-3-05pum (2) 0-4-10pum
3 04-07um 4) 12-16um

45. RISAT stands for
(1) Radio Imaging Satellite (2) Radar Imaging Satellite

(3) Radar Ihformation Satellite (4) Radar Information Sensor

46. Regolithis a
(1) Weathered rock material (2) Volcanic rock
(3) Resistant igneous rock (4) Precious stone
47. The most catastrophic volcanic eruption of Mt. Pelee, occurred in 1902, and
killed almost the entire population of St. Pierre town. Mt. Pelee is located in
(1) West Indonesia Islands (2) Aleutian Islands
(3) East Solomon islands ‘ (4) West Indian Islands

48. Consider the following statements :

I.  Rapids are formed in the old stage of a river.

II. Leveesarea part of flood plains formed in the old stage of a river.

ITI. Deposition is very common in the youth stage of a river.

Which of the statements given above is/are correct ?

(1) TandIIonly (2) Tonly

(3) IIonly 4) L IIandIII
Ph.D./M.Phil GEOG 16
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49.

50.

51.

52.

53.

54.

Which one of the following instruments can be used for measuring the strike and
dip of a rock ?

(1) Clinometer (2) Speedometer
(3) Altimeter (4 GPS
“The present is the key to the past.” This concept was proposed by
(1) Davis (2) Hutton
(3) Gilbert (4) Horton
Match the following :
A. Davis I.  Uniformitarianism
B. Horton II.  Process of erosion
C. Penck ITI. Simultaneous upliftment and erosion
D. Hutton IV. Morphometric analysis
A B C D
(1 I I III v
(2) III I II v
3 1II v I II1

(4) II v III I

The Masai, a nomadic tribe who are cattle pastoralists, live in the areas of
(1) Northern Nigeria (2) Kenya
(3) Morocco (4) South Africa

Instead of rotating crops in the field to preserve fertility, the tribes frequently
clear the forest by fire and make a new field for farming activity. This primitive
type of farming is popularly known as

(1) Alternative farming
(2) Cut-and-Grow farming
(3) Shifting cultivation

(4) Forest cultivation

Thundercloud is also called
(1) Cumulonimbus cloud (2) Cumulus cloud
(8) Stratocumulus cloud (4) Nimbostratus cloud
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85. Migration affects the population structure of which of the following regions ?
(1) Destination
(2) Source
(3) Destination and Source

(4) Neither Source nor Destination

56. The line joining places with an equal degree of salinity is known as
(1) Isohyet (2) Isotherm
(3) Isohaline (4) TIsoline

57. According to the Census of India, on the basis of population size, the Class-II
town consists of a population of

(1) 20,000 - 49,999 (2) 50,000 - 99,999
(3) 1,00,000 - 4,99,999 (4) 5 lakhs and above

58. The term Umland describes
(1) A hollow town
(2) The central part of a town
(3) A satellite town

(4) The area surrounding a town

59. The agricultural land use based on the concept of economic rent in the year 1817
was explained by

(1) Von Thunen (2) Chisholm
(3) Richard Peet 4) Ricardo

60. Where is the largest uranium reserve found in India ?
(1) Tummalapalli in Andhra Pradesh
(2) Gaya in Bihar
(83) Kakrapar in Gujarat
(4) Makum in Assam
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55.

 56.

57.

58.

59.
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PART B

Answer any five out of ten questions. Each question carries 5§ marks. Write your answers
within 100 words each.

61. Explain briefly about environmental determinism. | 5
62. Discuss briefly about the quantitative revolution in geographical studies. 5
63. Explain the distribution of major soil categdries in India. -5
64. Explain the importance of the isopleth technique for representation of data. 5

65. Discuss remote sensing technology and its applications in the field of Earth

Sciences. - : 5
66. Describe the process of formation of horst and graben. 5
67. Explain any two of the following landforms with neat sketches : 5

(a) Roche moutonnées

(b) Barchan

(¢c) Stalactites and Stalagmites
(d) S.pit

68. Briefly write a note on renewable resources. A ‘ ' 5

69. The Indian Ocean is unique with regard to the pattern of circulation of ocean
currents. Explain in detail. ' 5

70. E4xplain the various factors affecting the distribution of population. 5
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